i iE =

BIE 4R A RS (R 8 ) i % 9 (

107

Pr b))

- \:‘E'.‘Eé%B?F?ZJ?““é 124 B S BE U=(F %1 RiER) -
Y N SRR CE T RN X W X ﬁ )

W

S H ERES

4
folw

?140%%@“5@1}*%%2%‘@}?%“& T
Bl 2 - BB 2 R Y -y 1R PR
oo TR A ARl 2 REMR2ZF(F P FAFMRFEC
Gow) BAEAF IR v 4 B ERFEIS S BE
LA ERPER o BAEAF THy v 4 FRdP T 1R
BRIV - R LR s 2 gy 1 R(AE Ao 5 )
TACEER SR o ot B REGE > 2 A
P g e AR 2R 0 1T RIS o

ik v 4

ToAARPE R B - R ERD Y - T A (BT R 0 T h
mame) ¥4 ,ko;\jéﬁ:ﬁz"l—a,a@éﬁé\éyﬂ
f'ﬂi’?\—’g’{l\:‘z ’ |,(—""”)‘L o
AR T L (R kR A
=< #c L% 1=c& 2tk 3k 4 = 5=k 6=tX
(2 5 15 25 30 45 5o 65

5 10 20 30 40 50 60 70
SHe | THY | 8% | 9=k | 10X | 11=L | 12%% | (3%
(H 75 82 86 89.5 92.5 95.9 98. 5
= 8= | 9% | 10% | 1= | 12% | 13x | 4=
(2 30 84 88 91 94 97 100

= N iEHRIA




107

(- )mgﬁéw«#,'ﬁ BEAA L
(D)8 BERF P AT B HFRERF > F TG DA
(2 ) S R R A Gt > A Sde 54
()P A L #HEEY > & de 50 -

(IR A 4e7 FH AR BN ARRREE o5 A -
(F )V A 4o o IR F B s gt 7&};;‘! o2 n
(C A4t FERR S REFIEF 1A
(MEFAAIEB 2575 REFSEEMNICLII S L o

o

o



